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1. Write a similarity statement.
2. Find x.
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The perimeters of the large and small triangle

are 630 cm and 490 cm. . ]
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All measurements are in inches. . : f—_fﬂ ! 4
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11. There are three similar triangles. Find the 7
perimeter of each. .
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12.Findy. M2 27 M7

13. Find the perimeter of the shaded trapezoid.
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14, Find the coordinates of point B. (ﬂ ) i;) % = 2
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15. Suppose this diagram represents the path
of a billiard ball on a table. Find the

5
coordinates of the ball after one more g
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one by a scale factor of 5:3.

The larger triangle is similar to the smaller
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17. Find y. 5 15 'LD
18. If you knot the orean Theorem,
find the penmctcr of the smallcr triangle.
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_ - e/ \20 The perimeter of the triangle on the left is
*~ 37 in.. Find the perimeter of the triangle

19. If AB = 6x +6, what is the value of AB?

on the right.
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21. Make up a similar-triangle problem that involves only integer values and that uses a scale
factor of 8:3. For an additional challenge, try to include binomial expressions like 2x+3.
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